BENOXEBEERHRERR (TR2F11XEE)
HEXNARETTOREHE
1 XEBREWFERR

% £ K mEr e tliE ® =1 B T
HKEHH 37,948 & -980 4 -2.5 9% 113.6
% FH ¥ 157 A +2 A +1.3 % 0.47 A
BEEH 45,150 A -1,068 A -2.3 9% 135.2 A
2 287 —X MIELL

D|IO|®|@ 6|6 D|®|®|0]| D

tlm=m|%|2|x|8|&2|®8|F|8|4 £

5 == £

AR AR AR AEAR AR EI AR
5 & #193)|187|183 (174173172163 | 157|157 (152|143 4 288
o 8] -3 -4 -1|-26[-15| -9 | +6 | +2|-17| -5 |-27 -90
MEENE ] 2 3 5 1 4 6 91 11 7 8 8

3 KREERIFEE DR

T po ” - T pars — TEERE

BEoEREF 25 15.9 % -6 -19.4 9 33.7 %
R EBEFEHRAP ol 36.3 % +3 +5.6 % 19.0 %
HEEFEFHEF 15 9.6 % -2 1 -11.8 9% 13.8 9%
#* 17 th 08 36.9 % +h +9.4 9% 33.2 %
z ) fth 2 1.3 % +2 — % 0.3 %

H 157 100.0 9% +2 +1.3 % 100.0 9%

F BERERMRUTE2MEERADOORMNGTHE—BLENVGENHY FET,

4 FERITEE DR

® B A% = ME m EHm F wE w5

1 5®UT 0 0.0 % -6 | -100.0 9% 14.2 9%
16~245%% 30 19.1 % +3 +11.1 % 9.5 %
25~295% 5 3.2 % -4 -44.4 9% 6.6 %
30~395m 20 12.7 % +6 +42.9 % 16.5 9%
40~495m% 16 10.2 9% -3 -15.8 9% 14.0 %
50~595m 15 9.6 % +1 +1.1 % 12.7 %
60~645% 9 2.7 % -4 -30.8 9% 6.8 %
6 5 m U L 62 39.5 9% +9 +17.0 9 19.2 9

it 157 100.0 9% +2 +1.3 % 100.0 9%

F BERERMRUTE2MEERAOORMNGTHE - BLEWNVGENHY FT .
E2 OXIF, ATERUE 101 £RY.



5 HEEHAEENR (RIFERLL)

ES %) I F ? = = = Z

U5) E & i

X % 2 | | 2|2t | 8| 8| % | =

= 1 1

54 UF 4 e H E = =
X £ 37, 948 827 2,110 834 3, 661 1,806 9,163 4, 460 9,475
REHH RIEELE -980 -106 -136 -2 -241 -74 -58 -326 -114
Rk E (%) 100 2.2 5.6 2.2 9.6 4.8 24. 1 11.8 25.0
X £ 157 0 0 0 0 6 62 30 46
I EH RIS +2 -3 -2 +0 -5 +5 +9 +3 +1
BRE %) 100 0.0 0.0 0.0 0.0 3.8 39.5 19.1 29.3
X £ 45,150 920 2,169 835 3,924 1,668 5,174 1,275 17,012
BIEEHK RIS -1, 068 -118 -137 +2 -253 -45 +24 -637 -393
HakE (%) 100 2.0 4.8 1.8 8.7 3.7 11.5 16. 1 37.7

F BERERMRUTE2MEERADOORMNGTHE - BLEWNVGENHY FT .
F2 BE (16~241) LXEOBHEL, TNETNEELLESFE 1 LFE(BRXERPRIREVE) LESLBROBHTT,

6 HEEHINEREELR (RIFERLL)

ES 4] I aa) ¥ = = = 25
B E ) )
% £ -l 2 b | R B | B
B 1 64
54 U 4 & & e & = %
X &£ 25 0 0 0 0 1 )/ 8 10
HEEREH
BI4ELE -6 -1 +0 +0 -1 +1 +1 +0 -5
X &£ 57 0 0 0 0 4 9 19 29
“ipEEES
HI4ELE +3 +0 +0 +0 +0 +3 +7 +3 -7
X &£ 15 0 0 0 0 0 6 1 8
HEERAT
BI4ELE -2 +0 -1 +0 -1 +0 -5 +0 +4
X &£ 58 0 0 0 0 1 39 2 17
$ 17
BIEL +5 -2 -1 +0 -3 +1 +5 +0 +3
X £ 2 0 0 0 0 0 1 0 1
z D
BIEL +2 +0 +0 +0 +0 +0 +1 +0 +1
N " X &£ 157 0 0 0 0 6 62 30 65
R | 31 2] =0 5| +5 +9 +3 !

1 EE (16~245)




7 FEER - IKERIFEER (RIEREL)

51 161 20] 25 1 30 ] 40 ] 5 |60 65] & | &

= N Ezlv vl vl el ey & 74

7 g | 19| 24 | 20 | 39 | 49 | 59 | 64 | w1 -

Tl E| | | % | = | & | & | £ | i (%)

= & 0] 3| 5| 0] 4| 2| 2| 2 7| 25| 15.9
ARBRET ekl 2 2 2] 3 3] 2[=x0] 2 a] 6| =
. = & 0] 7] 12| 3] 11| 8| 5| 2| 9| 57363
SHWERET ST o 2 1| 3 A 4 z0] o] a9 3] =
_ = & 0] o] 1| 2] 1] 2| 2| 1| 6| 15| 9.6
REERAY e h T o =0 =0 | 2] 1| 1 [z0 =0 5| 2 =
s = m A & O 1] T o 4l 4| 5[ 4| 9] 56369
Z U S| 3| 20| =0 | =0 | +1 | 2| =0 | =0 | +5 | +5 | —
X & 0] 0] o o] o o 1] o 1| 2] 13

T DM R Tz0 [0 [ 20| =0 [ =0 | =0 =1 =0 =1 | 2] =
N o |& & 0 11 19| 5[ 20[ 16| 15[ o 62]15/ ] 100
= olgiEke] 6 4| 0] 4] w6 3] | 4] 9] 2] =
R (%) 0.0 7012132127102 9.6|57](39.5|10]| —

F BRERMARUTE2MMEEEAOLORMAFHE—BLEVGENHYET,

8 BEEFEHREBEDI— AL MEERADKR (BIEX L)

X ) X 5 Al & R
BHEEREFDREE 25 31 -6
U— kR)L MEERREE 11 1 +0
E & A £ (%) 44.0 35.5 +8.5
5 F ¥ T W 6 5 +1

9 V—MRIIIEERAREDEFHTE (RIEXLE)

X 7 15 | BEED | BEER | SAER | MOER | BRER | BIER (2 ot B
w | A = 0 6 0 0 2 3 0 0 11

#
el b BIEEL| =0 | +4 | =0 | -1 -2 -1 ] x£0 | =0 +0
. | A F 0 2 0 0 2 2 0 0 6

oo S
ERREEH BIEELE|l =20 | +2 | =20 [ -1 -2 +2 | £0 | =0 +1

10 S£7FHEENER (A »fE)

X ) €15 | SEER | EAED | SRED | MOED | AEAR | BIER |zofe| Bt | BAE®O)
Sl =3 I N I N 0 I
N FIL B gﬁzﬁ: ig ig ig —(1) —g +§ ig ig —? 66.—7
e F 732 N N N R N I N

F BRERMAUTE2MMEEEAOLORMAFHE—BLEVGENHYET,
3



T X T+ Al 38 @ B FE AR (R4 11RHER)
X5 z & = ® | AnE | —H= BiE | 502 | 16~20% | aRnE
RE il % Al ) B 5 ; A1 | 3 ; B9 | 3 ; B0 | 5E ; B0 | 5E ; A0 | 5% | A
-3 -3 5 -3 -3 -3 -3 -3 =3 =3
X BT £ %% t i % t R AR SN AR SN AR SN KRN AR S
B R KX 968 +79 10 +8 1,115 +90 1 +1 4 +4 2 +2 3 +1 0:=*0 6 +4
M E ) X 891 -25 2 -3 1,030 -40 0:=+0 2 i +0 0:=+0 0 -3 2 +1 0 -1
[Eid] X 489 +7 1 -1 583 +22 0: =0 0:=+0 0: =0 1 -1 0: =0 1:=%0
23] X 848 -61 2 +0 1,020 -39 0:=+0 0:=+0 0:=+0 2 i +0 0:=+0 1 -1
% |@ X 643 -105 0 -2 716 -127 0:=x0 0:=x0 0:=x0 0 -2 0:=x0 0 -2
B m K 7 -70 3 +2 927 -70 0:=+0 0 -1 0:=+0 3 +3 0:=+0 1 +1
Rty BE 619 -79 4 -3 719 -84 0:=x0 2 -3 0 -2 2 +2 1 -2 1:i=x0
7B X 860 +78 1 -1 1,025 +127 0:=+0 0 -1 1 +1 0 -1 0 -1 0 -1
B OF K 540 -60 3 -3 641 -60 0 -1 3 -1 0 -1 0:=x0 2 +2 0 -1
Elg R K 695 -79 2 +1 847 -80 1 +1 0:=+0 0:=+0 1:=+0 0:=+0 0 -1
& I K 1,202 +75 7 +4 1,376 +79 1 +1 3 +3 1 +1 2 -1 1 +1 3 +1
% X 640 -17 3 +2 780 -16 0:=+0 1:=+0 1 +1 0:=+0 1:=+0 0:=+0
T OE K 1,077 +33 1 -4 1,257 +55 0:=+0 1 -1 0:=+0 0 -3 0 -1 0 -2
#H B K 820 -96 1 -5 967 -143 0 -1 0 -1 0 -1 1 -2 0:=+0 1:i=+0
miIEFE B K 1,287 =37 6 +1 1,547 -34 1 +1 2 i +0 0: =0 3:i+0 1:=+0 2 +1
X X 347 -56 3 +1 402 -63 1:i=+0 1:i=+0 0:=+0 1 +1 0 -1 2 +2
= X 525 -51 5 +5 596 -68 1 +1 1 +1 1 +1 2 +2 0: =0 1 +1
G | 581 +3 1 +0 701 -10 0:=+0 0:=+0 1 +1 0 -1 0:=+0 1:=+0
B 13, 803 -461 55 +2 16, 249 -461 7 +3 20 i +0 7 +3 21 -5 8 -1 20 +1
I B X 843 -79 6 +2 931 -153 0 -2 2 +2 3 +2 1:=+0 2 +1 3 +1
N ES X 530 =31 3 -2 619 -53 0 -2 1:=%0 0 -2 2 +2 0:=x0 2 -1
B X 522 -9 4 +3 590 -18 0:=+0 1 +1 0 -1 3 +3 1 +1 1 +1
#HlE EF K 748 -34 4 +0 885 +0 0 -1 1:i=x0 1:i=x0 2 +1 0 -1 0:=x0
= 707 +29 3 +2 809 +46 0:=+0 2 +1 0:=+0 1 +1 1 +1 1 +1
ml|EZ E K 578 -8 3 +1 658 +19 0:=+0 1:i=+0 0 -1 2 +2 0:=+0 2 +1
B & X 473 +53 2 +2 548 +58 0:=+0 2 +2 0:=+0 0:=+0 0:=+0 2 +2
B 4, 401 -79 25 +8 5, 040 -101 0 -5 10 +6 4 -2 1 +9 4 +2 1 +5
8|48 & R 900 -2,617 1 -9 1,057 -3, 067 0 -1 0 -5 0 -4 1 +1 0 -3 1 -4
Bl & X 1,161 +1, 161 4 +4 1,343 +1, 343 0:=+0 1 +1 0:=+0 3 +3 0:=+0 3 +3
R |&E X 949 +949 3 +3 1,123 +1,123 0:=+0 1 +1 1 +1 1 +1 1 +1 2 +2
&% X 691 +691 4 +4 836 +836 2 +2 1 +1 0:=+0 1 +1 0:=+0 1 +1
5 3, 701 184 12 2 4,359 235 2 1 3 -2 1 -3 6 6 1 -2 7 2
# 8 B m 1,708 -188 2 -6 2,036 =273 0 -2 1 -1 0 -1 1 -2 0: =0 2 -1
FEOE W 1,578 +181 9 +3 1,829 +206 2 -2 5 +4 0:=+0 2 +1 2 i +0 1:=+0
% =2 m 781 -60 4 +4 926 -69 0:=*0 1 +1 2 +2 1 +1 0: =0 1 +1
B R 2,039 -100 7 -2 2,446 -75 1:=+0 2 -2 0 -1 4 +1 2 i +0 4 +1
N B R 951 -139 6 +5 1,132 -199 3 +2 0:=x0 1 +1 2 +2 1:=%0 2 +2
¥ 4~ i 968 =21 5 +5 1,133 -10 1 +1 1 +1 0:=+0 3 +3 1 +1 3 +3
EOF M 190 -5 0 +0 227 +5 0:=x0 0:=x0 0:=x0 0:=x0 0:=x0 0:=x0
m|= @E 204 -1 3 +1 242 -22 0 -1 1 +1 0:=+0 2 +1 0:=+0 2 +1
&z B 564 -83 4 +3 680 -100 2 +2 1 +1 0:=+0 1:i=+0 1 +1 2 +1
E K 1,363 -164 4 -3 1, 660 -163 0:=+0 4 i +0 0 -1 0 -2 3:i+0 1 -1
X M M 1,309 +23 2 -4 1,556 +48 0 -2 1 +1 0:=+0 1 -3 0: =0 0 -3
# 2 | m 499 +27 0 -5 598 +21 0:=+0 0 -2 0:=+0 0 -3 0:=+0 0 -3
B E A W 556 -76 0 -3 671 -60 0 -1 0: =0 0:=*0 0 -2 0 -1 0 -1
BE M m 635 +27 2 +1 751 +17 0:=+0 1 +1 0:=+0 1:i=+0 0:=+0 0:=+0
MR W 112 -13 1 +0 127 -32 0: =0 0 -1 0:=*0 1 +1 0: =0 1 +1
# #E W 414 -32 0 -1 476 -46 0:=+0 0 -1 0:=+0 0:=+0 0:=+0 0:=+0
B 13, 871 -624 49 -2 16, 490 -752 9 -3 18 +3 3:+0 19 -2 10 +1 19 +1
i 35,776 -980 141 10 42,138 -1,079 18 -4 51 7 15 -2 57 8 23 0 51 9
¥ L M 132 +3 0 -1 178 +23 0 -1 0: =0 0: =0 0:=+0 0: =0 0:=+0
£ Il 288 +1 2 +0 330 +8 0:=+0 1:=+0 0:=+0 1:=+0 1 +1 1:=+0
K B H 157 +1 0 -1 204 +15 0:=x0 0 -1 0:=x0 0:=x0 0:=x0 0:=x0
Z B 112 +8 0 -3 129 +13 0:=+0 0 -2 0:=+0 0 -1 0:=+0 0 -1
BT |f 3 H 40 -7 1 +1 45 -16 1 +1 0:=+0 0:=+0 0:=+0 1 +1 0:=+0
K HF M 116 +17 1 +0 150 +25 0:=+0 0 -1 0:=+0 0:=+0 0:=+0 1 +1
¥ B 59 -3 0 -1 15 -9 0 -1 0:=+0 0:=+0 0:=+0 0:=+0 0 -1
W 4t Hy 47 +6 1 +1 59 +6 0:=+0 1 +1 0:=+0 0:=+0 0:=+0 1 +1
Bl Rk H] 59 -1 0 +0 12 +3 0:=+0 0:=+0 0:=+0 0:=+0 0:=+0 0:=+0
R 128 =27 1 -2 178 -46 1 -1 0 -1 0:=+0 0:=+0 1:=+0 0:=+0
B B 29 -4 0 -1 51 +6 0:=*0 0: =0 0:=+0 0 -1 0: =0 0 -1
& A RO 93 -20 0 -1 115 -31 0:=+0 0 -1 0:=+0 0:=+0 0:=+0 0:=+0
2 )il 175 =27 1 +1 206 -28 0:=*0 1 +1 0: =0 0: =0 0:=+0 0:=+0
M LEE N # 17 -8 2 +1 25 -7 1 +1 1:i=+0 0:=+0 0:=+0 11 =+0 0:=+0
B 1,452 -61 9 -6 1,817 -38 4 -1 4 -4 0:=+0 1 -2 4 +2 3 -1
ERERE 720 +61 7 -2 1,195 +49 5 -1 2 i +0 0:=+0 0 -1 3 +1 2 +1
& & 37, 948 -980 157 +2 45,150 -1, 068 27 -6 57 +3 15 -2 58 +5 30 +3 62 +9

X HEERERTE1ALNS3AFTHOME. 4 AUBRIEOHHTH L.

4




BT R 3 BB i FE A KR (FR2F 1 RFETE)
Hh FESH EEH BEEHN 1K EE R BE & 31

HRTA & %C PN (ORI ISR VORI D HEE | —#%HE | Q& | $17F | 2o
A |aEt| AR |iEL| RE ATt RE |oiE| KE |aTEl

B OE ™ 13,803 | -461 | 55 +2 | 16,249 | -461 | 6 [+3[20]|x o0 7 [+3|21][-5] 1 |+
o 4, 401 -19 | 25 8| 5080 | 101 ]o|-5]10][+6]4]-2]11]+9]0][x0
#EE mE 1,708 | -188 | 2 6| 203 | 27130 |-2|1|-1{o|-1|1][-2]0]|x0
- S 781 -60 | 4 +4 | 926 69 0|0 1 [+ |2 |+2]1]|+1]0]x0
E F w|=| 190 5| 0 +0 | 227 5] 0|0 00 0|x0 0|0 0][x0
= & || 204 1| 3 + 242 2o |11 [+]|0o|xo0 2|+]0]x0
= A 132 B30 0 -1 178 2310 |-1|0|x0 0x0 0|0 0[x0
I g c| 3,015 | -251 9 2| 3609 | -336| 0 |-4|3[+«1|2]+]|4a|x0 0|0
B EmR 3,700 | +184 | 12 2| 439 | +235| 2+ 3[2]1]-3]6|+]0][x0
E K 1,363 | -164 | 4 3| 1,660 | -163] 0 |x o0 4 |x0 0|-1|0]|-2]0|x0
X M w|&| 1,309 +23 | 2 -4 | 1,556 48l o |21 |+ o0|x0 1]|-3|]0]x0
B AT 556 -6 0 -3 67 60| 0 |-1|0fx0 00 0]|-2|0]x0
FE RS rh|#| 635 27 2 +1 751 +7 o |x0 1 |+«1|0|xo0 1|0 0|xo0
% M ™ 414 320 0 -1 476 46 0 |x0 0 |-1]0x0 0|xo0 0x0
2 )1l mEr|@| 175 27 1 +1 206 28 o |0 1 |[+1]|0|x0 0|xo0 0x0
F OO 17 8| 2 +1 25 71|+ 1|0 0|xo0 0|xo 0]|xo0
I it c| 8 170 -713 | 23 -6 | 9,704 43| |1lxo 1 |-4]8]|-1]0]xo0
T i3 M| 1,578 | +181 9 3] 1,820 | +206 | 2|25 [«a]lofx0 2[+1]0][x0
m R W 2,039 | -100 | 7 -2 | 2,446 sl 1 |lx0 2|-2l0|-1]|4]|+1|0]|x0
¥ » U5 ™| 968 -21 5 +5 | 1,133 01|+ |1 |+«1|0|x0 3|+3|0]|x0
£ B 564 83| 4 +3 | 680 00| 2 |+2| 1|+ ]| 0o|x0 1 |xo0 0]xo0
8 E | 499 27| 0 -5 | 598 21 o|x0 0|-2|0(x0 0]|-3|]0]x0
£ Il A 288 + | 2 +0 | 330 8]0 |0 1|0 0|xo0 1|xo0 0]xo0
X B HET|g| 157 +1] 0 -1 204 +15[ 0 |x0 0|-1]0|x0 0|xo0 0x0
= B 112 8| 0 -3 129 +13[o0o|x0 0|-2|0(x0 0]|-1]0]x0
I it/ c| 6,205 +14 | 27 +0 | 7,349 816 |+t |10l 1o |-1]11]|+1]0][x0
R MmEl 112 -13 ] 1 +0 127 2fofxoo[-1]ofxo 1 []+s1]o0][xo0
s E [ 40 -7 1 +1 45 161 |+1|0|x0 0x0 0|xo0 0[x0
X 3 H 116 +7 | 1 +0 | 150 +25 [ 0|0 0 [-1]0|xo0 0|0l 1]+
¥ @| ET|H#]| 59 31 0 -1 75 9l o|-1]o|xo0 0|xo0 0fx0 0|xo0
ot oEm| | 47 +6 | 1 +1 59 +6] 0|0 1 [+1]|0|xo0 0|xo0 0]xo0
Faﬁﬁﬂﬁ'ﬁn‘ 59 -1l 0 +0 72 +3] 0|0 0fx0 0|xo0 0|xo0 0xo0
I gt c| 433 1| 4 +1 528 23 1o 1|1 olxo 1 |w| 1]+
N A E B 951 -139 | 6 50 1,132 | <199 3 {+2|o0|xo 1|+ |2[+2]0]|xo0
% 4R ET[H| 128 27| 1 2| 1718 46| 1 |-1|o|-1|o0|xo0 0fx0 0|xo0
= o BT 29 4| 0 -1 51 +6] 0|0 0fx0 0|0 0|-1]0]x0
& = A4 93 20| 0 -1 115 31 lo|xo0 0o|-1]0|xo0 0]|xo0 0|x0
I #tlc| 1,200 | 10| 7 | 1,476 | 20| a w021 ]+ 2+]0]xo0
= EGE K 720 +61 7 -2 | 1,195 95120 ofxoof-1]0]xo0
& R 37,948 | -980 | 157 2 45150 |-1,068] 25| 6|57 3 |15] 2|58 5] 2| 2




